
� ������ ��������� 	�����
	���


��������� ������� ���� ����������� �� ��  ! �����"# �$ �% ���& ��� '
( )* +,-./ 0 12 1 345467 89 :;9<;:76;=>9? @;A4B7>; = <;C ;B7D@7 E F GHIJ KKL M N LO
PQ3NRSTQSU VW KW L X VYZ [ L \= LK]^

_`a`b` cd efe ggh

��
?

M1

�
	

�

M2

}F
α A

BCD i j k

j

F = 10
>l U

M1 = 4
>l@ U

M2 = 9
>l@ U

cosα = 0,8
L

_`a`b` cd ec e ggh

��
?

M1

�
	�

M2

~F
α

A

B C D

k m n
i
o

F = 5
>l U

M1 = 2
>l@ U

M2 = 18
>l@ U

cosα = 0,8
L

_`a`b` cd ep e ggh

��
?

M1

�
	�

M2

}F
α

A

BCD n q k

o

i

F = 5
>l U

M1 = 16
>l@ U

M2 = 59
>l@ U

cosα = 0,8
L

_`a`b` cd ed e ggh

��
?

M1

�
	

�

M2

= F
α

A

BCD

n o k

k

j

F = 5
>l U

M1 = 4
>l@ U

M2 = 17
>l@ U

cosα = 0,8
L

_`a`b` cd er e ggh

��
?

M1

�
	

�

M2

~F
α

A

B C D

k o

i

j

F = 15
>l U

M1 = 4
>l@ U

M2 = 10
>l@ U

cosα = 0,8
L

_`a`b` cd es e ggh

��
?

M1

�
	�

M2

>F αA

B C Dk k i

k

F = 15
>l U

M1 = 4
>l@ U

M2 = 6
>l@ U

cosα = 0,8
L



_`a`b` cd ete ggh

��
?

M1

�
	�

M2

= F
α A

BCD

i o k

j

F = 25
>l U

M1 = 4
>l@ U

M2 = 45
>l@ U

cosα = 0,8
L

_`a`b` cd eu e ggh

��
?

M1

�
	�

M2

~F
α

A

B C D

k m
i

n

F = 5
>l U

M1 = 10
>l@ U

M2 = 24
>l@ U

cosα = 0,8
L

_`a`b` cd ev e ggh

��
?

M1

�
	

�

M2

~F
αA

B C D

k n i

n

F = 5
>l U

M1 = 3
>l@ U

M2 = 1
>l@ U

cosα = 0,8
L

_`a`b` cd efw e ggh

��
?

M1

�
	�

M2

}F
α

A

BCD o m k

m

n

F = 5
>l U

M1 = 3
>l@ U

M2 = 15
>l@ U

cosα = 0,8
L

_`a`b` cd effe ggh

��
?

M1

�
	�

M2

~F
α

A

B C D

k o n

k
o

F = 10
>l U

M1 = 2
>l@ U

M2 = 10
>l@ U

cosα = 0,8
L

_`a`b` cd efc e ggh

��
?

M1

�
	

�

M2

= F
α

A

BCD

n j k

k
k

F = 5
>l U

M1 = 4
>l@ U

M2 = 9
>l@ U

cosα = 0,8
L

_`a`b` cd efp e ggh

��
?

M1�
	�

M2

}F
α A

BCD i n k

k

F = 5
>l U

M1 = 4
>l@ U

M2 = 11
>l@ U

cosα = 0,8
L

_`a`b` cd efd e ggh

��
?

M1

�
	

�

M2

~F
α

A

B C D

k m n
i

m

F = 25
>l U

M1 = 34
>l@ U

M2 = 18
>l@ U

cosα = 0,8
L



_`a`b` cd efr e ggh

��
?

M1

�
	

�

M2

~F
αA

B C D

k j i

n

F = 20
>l U

M1 = 6
>l@ U

M2 = 13
>l@ U

cosα = 0,8
L

_`a`b` cd efs e ggh

��
?

M1

�
	

�

M2

= F
α A

BCD

i o k

o

F = 5
>l U

M1 = 5
>l@ U

M2 = 3
>l@ U

cosα = 0,8
L

_`a`b` cd efte ggh

��
?

M1

�
	�

M2

}
F

α

A

B C D

k n j

n

k

F = 10
>l U

M1 = 14
>l@ U

M2 = 39
>l@ U

cosα = 0,8
L

_`a`b` cd efu e ggh

��
?

M1

�
	

�

M2

~F
α

A

B C D

k j k
i

j

F = 20
>l U

M1 = 26
>l@ U

M2 = 18
>l@ U

cosα = 0,8
L

_`a`b` cd efv e ggh

��
?

M1

�
	

�

M2

>F α

A

B C Dk j n

j

i

F = 10
>l U

M1 = 13
>l@ U

M2 = 4
>l@ U

cosα = 0,8
L

_`a`b` cd ecw e ggh

��
?

M1

�
	

�

M2

>F αA

B C Dk j i

n

F = 5
>l U

M1 = 6
>l@ U

M2 = 13
>l@ U

cosα = 0,8
L

_`a`b` cd ecfe ggh

��
?

M1

�
	�

M2

~
F

α

A

BCD j n k
i
n

F = 5
>l U

M1 = 8
>l@ U

M2 = 16
>l@ U

cosα = 0,8
L

_`a`b` cd ecc e ggh

��
?

M1

�
	

�

M2

>F α

A

B C Dk o n

o

i

F = 20
>l U

M1 = 4
>l@ U

M2 = 12
>l@ U

cosα = 0,8
L



_`a`b` cd ecp e ggh

��
?

M1

�
	

�

M2

~F
α

A

B C D

k x
i
o

F = 20
>l U

M1 = 31
>l@ U

M2 = 40
>l@ U

cosα = 0,8
L

_`a`b` cd ecd e ggh

��
?

M1

�
	

�

M2

>
F

α

A

BCD

n o k

k

n

F = 5
>l U

M1 = 13
>l@ U

M2 = 31
>l@ U

cosα = 0,8
L

_`a`b` cd ecr e ggh

��
?

M1

�
	

�

M2

>
F

α

A

BCD

o o k

n

j

F = 5
>l U

M1 = 26
>l@ U

M2 = 75
>l@ U

cosα = 0,8
L

_`a`b` cd ecs e ggh

��
?

M1

�
	

�

M2

=
F
α

A

B C Dk m j

j

k

F = 5
>l U

M1 = 20
>l@ U

M2 = 78
>l@ U

cosα = 0,8
L

_`a`b` cd ecte ggh

��
?

M1

�
	

�

M2

~F
αA

B C D

k n i

n

F = 10
>l U

M1 = 3
>l@ U

M2 = 6
>l@ U

cosα = 0,8
L

_`a`b` cd ecu e ggh

��
?

M1

�
	�

M2

~
F

α

A

BCD i n k

k

i

F = 5
>l U

M1 = 10
>l@ U

M2 = 13
>l@ U

cosα = 0,8
L

_`a`b` cd ecv e ggh

��
?

M1

�
	�

M2

~
F

α

A

BCD k n k

k

k

F = 5
>l U

M1 = 16
>l@ U

M2 = 14
>l@ U

cosα = 0,8
L

_`a`b` cd epw e ggh

��
?

M1

�
	

�

M2

~F
α

A

B C D

k o n
i
o

F = 25
>l U

M1 = 32
>l@ U

M2 = 19
>l@ U

cosα = 0,8
L



_`a`b` cd epfe ggh

��
?

M1

�
	

�

M2

~F
αA

B C D

k n

k

F = 10
>l U

M1 = 4
>l@ U

M2 = 9
>l@ U

cosα = 0,8
L

_`a`b` cd epc e ggh

��
?

M1

�
	�

M2

= F
α A

BCD

j k

n

F = 25
>l U

M1 = 3
>l@ U

M2 = 44
>l@ U

cosα = 0,8
L

yz{|
}~��~� �
����~�� ���~����� ����~������ WZ�� ���V�
�

XA YA XB YB YC MB YD M�
9 � −1 � −3 � −3�
−3 � −1 � −1 � 4�
6 � −2 � 5 � −8�
2 � 2 � −1 � 4�
−14 � 2 � 2 � 7�
−14 � 2 � −5 � −4�
21 � −1 � 10 � 5�
−2 � −2 � −4 � 7�
−5 � 1 � 1 � 2��
3 � 1 � 0 � −3��
−6 � −2 � 1 � 5��
1 � 3 � 0 � 3��
2 � 2 � 2 � −5��
−22 � 2 � 7 � 8��
−14 � −2 � 5 � 7��
5 � −1 � 0 � 3��
6 � 2 � −9 � 3��
−18 � 2 � 7 � 5��
−9 � 1 � −2 � −4��
−6 � 2 � 2 � −5��
−3 � −1 � 4 � −1��
−14 � −2 � −3 � −9��
−13 � −3 � 5 � 7��
−5 � 1 � −5 � 2��
−6 � 2 � −9 � 6��
6 � −2 � 9 � −6��
−9 � 1 � 3 � 3��
−6 � 2 � 4 � −1��
−6 � 2 � 4 � −1��
−22 � 2 � 8 � 7��
−10 � 2 � 3 � 3��
21 � −1 � 11 � 4



� ¡¢ £¤¥¦ ��§���¨ ©


